oL | WHEEL SIeE BoregDia' D\i/;/rmee‘iclar %Zzzl Wr(‘le,\féﬁg”e DESCRIPTION BORE SIZE HzﬁggE . A';gA'abs) PreR
(NCH) | (INCH) CARTON

1252 LD 2 x 3/4 x 1/4 2 3/4 1/ Polyolefin Wheel Light Duty 255-.270 | .907 -.919 75 700
1252 HD 2x1x1/4 2 1 1/4 Polyolefin Wheel Heavy Duty 255-.270 | 1.027-1.039 200 630
1250-1 21/2x11/8x 5/16 21/2 1-1/8 5/16 Polyolefin Wheel 315-.330 | 1.189-1.201 150 325
1250-2 212x11/8x3/8 2172 1-1/8 3/8 Polyolefin Wheel 380-.395 | 1.189-1.201 150 325
1250-3 21/2x11/8x1/2 21/2 1-1/8 12 Polyolefin Wheel 505-.520 | 1.189-1.201 150 325
2782-2 27/18 %2 7/8 X 1/2 2-7/8 2-7/8 12 Polyolefin Wheel 505-.520 | 2.896-2.908 350 105
27823 27/18 %2 7/8x5/8 2-7/8 2-7/8 5/8 Polyolefin Wheel 630-.645 | 2.896-2.908 350 105
3784-1 3x7/8 x 1/4 3 7/8 1/4 Polyolefin Wheel 255-.270 | 0.921-0.933 100 250
3784-2 3x7/8x38 3 78 38 Polyolefin Wheel 380-.395 | 0.921-0.933 100 250
3784-3 3x7/8x 112 3 7/8 172 Polyolefin Wheel 505-.520 | 0.921-0.933 100 250
3784-4 3x7/8 X 5/16 3 7/8 5/16 Polyolefin Wheel 315-.330 | 0.921-0.933 100 250
3118-1 3x11/8x5/16 3 1-1/8 5/16 Polyolefin Wheel .315 - .330 1.229-1.241 150 200
3113-1 3x113/16 x5/8 3 1-13/16 5/8 Polyolefin Wheel 630-.645 | 1.986-1.998 500 150
3113-2 3x113/16 X 7/16 3 1-13/16 7/16 Polyolefin Wheel 443 - 460 | 1.986-1.998 500 150
3113-3 3x113/16 x 1/2 3 1-13/16 172 Polyolefin Wheel 505-.520 | 1.986-1.998 500 150
31136 3x 1 13/16 x 1-3/16 3 1-13/16 3/16 Roller Bearing Bore Wheel 11'_11755‘ 1.986-1.998 500 150
3114-1 3x11/4x38 3 1-1/4 38 Polyolefin Wheel 380-.395 | 1.541-1.553 300 200
3114-2 3x114x12 3 1-1/4 12 Polyolefin Wheel 505-.520 | 1.541-1.553 300 200
3114-3 3x11/4x5/16 3 1-1/4 5/16 Polyolefin Wheel 315-.330 | 1.541-1.553 300 200
4118-1 4x1x5/16 4 1 5/16 Polyolefin Wheel 315-.330 | 1.179-1.191 125 150
4118-2 4x11/8x5/16 4 1-1/8 5/16 Polyolefin Wheel 315-.330 | 1.225-1.237 175 140
4114-1 4x11/4x38 4 1-1/4 38 Polyolefin Wheel 380-.395 | 1.560-1.572 350 110
4114-2 4x114x12 4 1-1/4 12 Polyolefin Wheel 505 -.520 | 1.560-1.572 350 110




46245 4x11/2x1/2HD 1-1/2 1/2 HD Anti-Scalp Wheel .505 - .520 1.505-1.517 400 105
5613-1 5x13/8x1/2 1-3/8 1/2 Polyolefin Wheel .505 - .520 1.451-1.463 400 72
5613-2 5x13/8x1/2SB 1-3/8 1/2 SB Steel Bushing Wheel .505 - .520 1.451-1.463 400 72
5112-1 5x1x5/16 1 5/16 Polyolefin Wheel .315-.330 1.149-1.161 145 96
5112-2 5x1x7/16 1 7/16 Polyolefin Wheel 443 - .460 1.149-1.161 145 96
5112-3 5x11/16 x 5/16 1-1/16 5/16 Polyolefin Wheel .315-.330 1.234-1.246 145 96
5112-4 5x11/4x3/8 1-1/4 3/8 Polyolefin Wheel .380 - .395 1.517-1.529 400 72
5112-5 5x11/4x5/16 1-1/4 5/16 Polyolefin Wheel .315-.330 1.517-1.529 400 72
5112-6 5x11/4x1/2 1-1/4 1/2 Polyolefin Wheel .505 - .520 1.517-1.529 400 72
5112-7 5x11/4x5/8 1-1/4 5/8 Polyolefin Wheel .630 - .645 1.517-1.529 400 72
5112-8 5x11/2x1/2 1-1/2 1/2 Polyolefin Wheel .505 -.520 1.574-1.586 450 72
5112-9 5x11/2x5/8 1-1/2 5/8 Polyolefin Wheel .630 - .645 1.574-1.586 450 72
5220-1 5x2x3/4 2 3/4 Polyolefin Wheel 755 -.770 2.190-2.202 750 48
5220-2 5x2x5/8 2 5/8 Polyolefin Wheel .630 - .645 2.190-2.202 750 48
5220-3 5x2x13/16 2 3/16 Roller Bearing Bore Wheel L% | 21002202 750 48
5220-6 5x2x1/2 2 1/2 Polyolefin Wheel .505 - .520 2.190-2.202 750 48
52HD 5x2x1/20SH 2 1/2 OSH Off Set Hub Heavy Duty Anti-Scalp Wheel .510 - .550 1.570-1.582 200 56
53HD-01 5x3x1/2 OSH 3 1/2 OSH Off Set Hub Heavy Duty Anti-Scalp Wheel .510-.550 | 2.512-2.524 800 40
53HD-02 5x 3 x5/8 OSH 3 5/8 OSH Off Set Hub Heavy Duty Anti-Scalp Wheel .630 - .645 2.512-2.524 800 40
53HD-04 5x 3 x5/8 OSH 3 5/8 OSH Off Set Hub Heavy Duty Anti-Scalp Wheel .630-.645 | 2.498-2.510 800 40
53CTH-01 5x3x1/2CTH 3 1/2 CTH Centered Hub Heavy Duty Anti-Scalp Wheel .510-.550 | 3.280-3.292 800 32
53CTH-02 5x3x5/8 CTH 3 5/8 CTH Centered Hub Heavy Duty Anti-Scalp Wheel .630 - .645 3.280-3.292 800 32
6138-1 6x13/8x1/2 1-3/8 1/2 Polyolefin Wheel .505 - .520 1.450-1.462 50 50
6138-2 6x13/8x1/2SB 1-3/8 1/2 SB Steel Bushing Wheel .505 - .520 1.450-1.462 50 50
6151-1 6x11/2x5/8 1-1/2 5/8 Centered Hub Wheel .630 - .645 1.732-1.744 500 40




6151-2 6x11/2x3/4 6 1-1/2 3/4 Centered Hub Wheel 755 -.770 1.732-1.744 500 40
6245-1 6x2x1/2LH 6 2 1/2 LH Long Hub (LH) .505 - .520 2.400-2.412 650 34
6245-2 6x2x3/4LH 6 2 3/4 LH Long Hub (LH) 755 -.770 2.400-2.412 650 34
6245-4 6x2x13/16 LH 6 2 1-3/16 Roller Bearing Bore Wheel Long Hub (LH) 11'?'1755- 2.400-2.412 650 34
6245-1A 6x2x1/2SH 6 2 1/2 SH Short Hub (SH) .505 - .520 2.149-2.161 650 34
6245-2A 6 x2x3/4SH 6 2 3/4 SH Short Hub (SH) 755 -.770 2.149-2.161 650 34
6245-3 6 x 2 x5/8 SH 6 2 5/8 SH Short Hub (SH) .630 - .645 2.149-2.161 650 34
6245-4A 6x2x13/16 SH 6 2 1-3/16 SH Roller Bearing Bore Wheel Short Hub (SH) li.117§5- 2.149-2.161 650 34
62HD-1 6x2x1/2HD 6 2 1/2 HD Heavy Duty .505 -.520 2.185-2.197 1,000 34
62HD-3 6 x2x3/4HD 6 2 3/4 HD Heavy Duty .755-.770 2.185-2.197 1,000 34
62HD-4 6x2x13/16 HD 6 2 1-3/16 HD Roller Bearing Bore Wheel Heavy Duty ll..117985- 2.185-2.197 1,000 34
82SD-1 8x2x3/4CTH 8 2 3/4 CTH Solid Wheels with Centered Hub (CTH) .755 - .770 2.179-2.191 900 17
82SD-2 8x2x5/8CTH 8 2 5/8 CTH Solid Wheels with Centered Hub (CTH) .630 - .645 2.179-2.191 900 17
82SD-3 8x2x13/16 CTH 8 2 1-3/16 CTH | Solid Centered Hub Roller Bearing Bore Wheel 11'_117985‘ 2.179-2.191 900 17
82SK-1 8x2x3/4CTH 8 2 3/4 CTH Spoke Centered Hub Wheel .755 - .770 2.164-2.176 350 17
82SK-2 8x2x5/8CTH 8 2 5/8 CTH Spoke Centered Hub Wheel .630 - .645 2.164-2.176 350 17
82SK-3 8 x2x3/40SH 8 2 3/4 OSH Spoke Off Set Hub Wheel 755 -.770 2.189-2.201 350 17
82SK-4 8 x 2 x5/8 OSH 8 2 5/8 OSH Spoke Off Set Hub Wheel .630 - .645 2.189-2.201 350 17
82SK-5 8x2x1/20SH 8 2 1/2 OSH Spoke Off Set Hub Wheel .505 - .520 2.189-2.201 350 17
82SK-6 8x2x1/2CTH 8 2 1/2 CTH Spoke Centered Hub Wheel .505 - .520 2.164-2.176 350 17
10SD-1 10x2 1/4 x 7/8 OSH 10 2-1/4 7/8 OSH Solid Off Set Hub Wheel .880 - .895 2.184-2.196 1,000 12
10SD-2 10x 2 1/4 x 3/4 OSH 10 2-1/4 3/4 OSH Solid Off Set Hub Wheel .755 - .770 2.184-2.196 1,000 12
10SD-3 10 x 2 1/4 x 5/8 OSH 10 2-1/4 5/8 OSH Solid Off Set Hub Wheel .630 - .645 2.184-2.196 1,000 12
10SD-4 10x2 /4 x1 1/64 10 2.1/4 1-1/64 OSH Solid Off Set Hub Wheel L0 | 21842106 1,000 12
10SD-5 10x2 géslli 13116 10 2-1/4 1-3/16 OSH Solid Off Set Hub Roller Bearing Bore Wheel 11'.11755' 2.184-2.196 1,000 12




10SD-1-CTH 10x21/4x7/8 CTH 10 2-1/4 7/8 CTH Solid Centered Hub Wheel .880 - .895 2.694-2.706 1,000 10
10SD-4-CTH 10x 2 1/4 x 1 CTH 10 2-1/4 1CTH Solid Centered Hub Wheel L0 | 2.694-2.706 1,000 10
10SK-1 10x2 1/4 x5/8 SH 10 2-1/4 5/8 SH Spoke Off Set Hub Wheel Short Hub .630 - .645 1.994-2.006 500 12
10SK-2 10x2 1/4 x 5/8 LH 10 2-1/4 5/8 LH Spoke Off Set Hub Wheel Long Hub .630 - .645 2.174-2.186 500 12
10SK-3 10x2 1/4x3/4 LH 10 2-1/4 3/4 LH Spoke Off Set Hub Wheel Long Hub .755 - .770 2.174-2.186 500 12
6156-LD 6x11/2x3/8 6 1-1/2 3/8 Light Duty Lawn & Garden Wheel .380 - .395 11'2??200- 35 168
8L-1 8x2x1/2 8 2 1/2 Spoke Lawn & Garden Wheel .505 - .525 1.532-1.544 24
. 1/2 Drive .
8L-1D 8 x 2 x 1/2 Drive Wheel 8 2 Wheel Spoke Lawn & Garden Drive Wheel .505 - .525 1.532-1.544 24
10L-1 10x21/4x1/2 10 2-1/4 1/2 Spoke Lawn & Garden Wheel .505 - .525 1.481-1.493 36
10L-1D 10x 2 1/4 x 1/2 Drive 10 2-1/4 1/2 Drive Spoke Lawn & Garden Drive Wheel 505-.525 | 1.481-1.493 36
Wheel Wheel
12L-1 12x2 1/4x1/2 12 2-1/4 1/2 Spoke Lawn & Garden Wheel .505 - .525 1.474-1.486 72
12L-1D 12x21/4 x 112 Drive 12 2-1/4 1/2 Drive Spoke Lawn & Garden Drive Wheel 505-.525 | 1.474-1.486 72
Wheel Wheel
615L-1 6x1-1/2x1/2 6 1-1/2 1/2 Lawn & Garden Wheel Black Side Wall .505 - .525 1.350 50 156
615L-2 6x1-1/2x3/8 6 1-1/2 3/8 Lawn & Garden Wheel Black Side Wall .380 - .395 1.350 50 156
615L-3 6x1-1/2x1/2 6 1-1/2 1/2 Lawn & Garden Wheel White Side Wall .505 - .525 1.350 50 156
615L-4 6 x1-1/2 x 3/8 6 1-1/2 3/8 Lawn & Garden Wheel White Side Walll .380 - .395 1.350 50 156
615L-5 6 x 1-1/2 x 5/16 6 1-1/2 5/16 Lawn & Garden Wheel Black Side Wall .505 - .525 1.350 50 156
615L-6 6 x 1-1/2 x 5/16 6 1-1/2 5/16 Lawn & Garden Wheel White Side Wall .505 - .525 1.350 50 156
715L 7x1-1/2x1/2 7 1-1/2 1/2 Lawn & Garden Wheel White Side Wall .505 - .525 1.500 75 111
715L-1 7x1-1/2x1/2 7 1-1/2 1/2 Lawn & Garden Wheel Black Side Wall .505 - .525 1.500 75 111
715L-2 7 x1-1/2 x 3/8 7 1-1/2 3/8 Lawn & Garden Wheel White Side Wall .380 - .395 1.500 75 111
715L-3 7 x1-1/2 x 3/8 7 1-1/2 3/8 Lawn & Garden Wheel Black Side Wall .380 - .395 1.500 75 111
1015L-1 10x 1-3/4 x 1/2 10 1-3/4 1/2 Lawn & Garden Wheel Black Side Wall (OSH) .505 - .525 1.50 165 42
10 x 1-3/4 x 1/2 Drive Lawn & Garden Wheel White Side Wall Drive

1015L-2 Wheel 10 1-3/4 1/2 Wheel (OSH) 505 - .525 1.50 165 42
1015L-3 10 x 1-3/4 x 5/8 LH 10 1-3/4 5/8 Lawn & Garden Wheel Black Side WallLong | 631 g45 1.875 65 42

Hub (OSH)




Lawn & Garden Wheel White Side Wall Slotted

1015L-4 10 X 1-3/4 X 1/2 10 1-3/4 12 e (O%h 505 - 525 1.50 65 42
1015L-5 10 x 1-3/4 X 5/8 10 1-3/4 5/8 Lawn & Garden Wheel Black Side Wall (OSH) | .630 - .645 1.50 65 42
1015L-6 10 x 1-3/4 x 1/2 10 1-3/4 12 Lawn & Garden Wheel White Side Wall (OSH) | .505 - 525 1.50 65 42
1015L-7 10 x 1-3/4 X 5/8 10 1-3/4 5/8 Lawn & Garden Wheel No Side Wall (OSH) 630 - 645 1.50 65 42

8158-SD-1SA 8 x 1-5/8 x 5/8 8 1-5/8 5/8 Polyolefin Web Center with Santoprene Tread | 631 g45 2.00 375 20

Off Set Hub Wheel
8158-SD-1UR 8 x 1-5/8 x 5/8 8 1-5/8 5/8 Polyolefin Web Center Wi Urethane Tread Off | 630 - 645 2.00 375 20
82SD-2SA 8x2x5/8 8 2 5/8 Soild P°'¥?£&”g\ef ﬁ?eiz”;eljbw&,hhggm"pre”e 630 - .645 2.170 500 17
82SD-2UR 8x2x5/8 8 2 5/8 Solid Po'yo'ef'gé’xfebr;eﬂfg {’,"\;thhegrema”e Tread | 530 645 2170 750 17
82SD-1SA 8x2 x 3/4 8 2 34 Soild Polyolefin Web Center with Santoprene | 755770 2.170 500 17
82SD-1UR 8x2x3/4 8 2 3/4 Solid Po'yo'eﬁgé’xfeﬁ;eﬂfg \‘?’Vithhe;retha”e Tread | 755 770 2.170 750 17
wowsn | wocam | | 2 | iws | weremsewecmewnsooee | i | aw | e | o
woan | ennwn | 8 | 2 | aww  [SMdimebumcmewvesxied| i | o | w0 | o
82SD-4SA 8x2x5/8 8 2 5/8 Soild Po'yg'rg‘;’é Vgﬁ%gfﬂfg wtrt‘eif‘”to‘”e“e 630 - 645 2.168 500 17
82SD-4UR 8x2x5/8 8 2 5/8 Solid Polyolefin Vieb Genter ith Urethane Tread | - 630 645 2.168 750 17
82SD-5SA 8x2x3/4 8 2 3/4 Soild Po'yg'ri‘:lrc‘j Vc\)’gbsgfﬂtfg Wﬂ‘egf‘”“’pre"e 755 - .770 2.168 500 17
82SD-5UR 8x2 x 34 8 2 34 Solid Polyolefin Vieb Genter with Urethane Tread | - 755 . 770 2.168 750 17
wows | wneniws | o | @ | row | srednwbcnewiswme | 08 | am | o | o
82SD-6UR 8x2 x1-3/16 8 2 1-3/16 50'idgf‘f"é‘e"teﬂzg’vvflgeif’;gmté‘egﬁgaé‘;gread L. 2.168 750 17
82SK-4SA 8x2x5/8 8 2 5/8 Spoke P°'34°r'ee;ié‘ gfgect‘ﬂlﬁr\)’v"gzesla”mpre”e 630 - .645 2.168 250 17
82SK-4UR 8x2x5/8 8 2 5/8 Spoke Palyolefin teb Certer wilh Urethane 630 - 645 2.168 350 17
82SK-3SA 8x2x3/4 8 2 34 Spoke Polyolefin Heb Center with Santoprene | 755 770 2.168 250 17
82SK-3UR 8x2 x 3/4 8 2 34 Spoke Polyolefin feb Certer with Urethane 755 - .770 2.168 350 17
82SK-2SA 8x2x5/8 8 5 5/8 Spoke Polyolefin Web Center with Santoprene 630 - 645 2170 250 17

Tread Centered Hub Wheel




Spoke Polyolefin Web Center with Urethane

82SK-2UR 8x2x5/8 8 2 5/8 olyolefin Wep Center win & 630 - 645 2.170 350 17
82SK-1SA 8x2 x 3/4 8 2 34 Spoke Polyolefin \eb Center wiih Santoprene | 755770 2.170 250 17
82SK-1UR 8x2 x 3/4 8 2 34 Spoke Polyolefin \Web Center with Lrethane 755-.770 2.170 350 17

10SK-SA-GT-1 | 10 x 2-1/4 x 5/8 OSH 10 2./14 5/8 Spoke Polyolefin Web Center with Sartoprene | 630 - 645 2.180 250 12
10SD-3SA 10 x 2-1/4 x 5/8 OSH 10 2-1/4 5/8 Soild Po'yg'r‘;g:‘j Vgﬁ%ﬁfﬂfg w::‘ezf”mpre”e 630 - .645 2.190 750 12
10SD-3UR | 10 x 2-1/4 x 5/8 OSH 10 2-1/4 5/8 Solid Polyolefin Web Center with Urethane Tread | g3 g5 2.190 1000 12

Off Set Hub Wheel
10SD-2SA 10 x 2-1/4 x 3/4 OSH 10 2-1/4 3/4 Soild Po'yg'r‘;gg Vgﬁ%ﬁfﬂfg W}:‘eif”mpre”e 755 - .770 2.190 750 12
10SD-2UR 10 x 2-1/4 x 3/4 OSH 10 2-1/4 3/4 Solid Po'yo'eﬁ“(;’;’fesbefﬁztgmz‘errema”e Tread | 755 770 2.190 1000 12
10SD-4SA 10 x 2-1/4 x 1 OSH 10 2-1/4 1 Soild P°'y$',§13 Vgglasgfﬂfg wtr:eglantoprene 11.%)255- 2.190 750 12
10SD-4UR 10 x 2-1/4 x 1 OSH 10 2-1/4 1 Solid P°'y°'eﬁ”(;’;’fesbefﬁﬂtgm?efretha”e Tread 11'%’255' 2.190 1000 12
10SK-2SA 10 x 2-1/4 x 5/8 OSH 10 2-1/4 5/8 Spoke Polyolefin eb Center with Santoprene | 630 - 645 2.168 250 12
10SK-2UR 10 x 2-1/4 x 5/8 OSH 10 2-1/4 5/8 Spoke Polyolefin tyeD Corter wih Urethane 630 - .645 2.168 350 12
10SK-3SA 10 x 2-1/4 x 3/4 OSH 10 2./14 34 Spoke Po'ﬁorg'é‘ gfg;ﬂ‘&ir\)’v"gg Samoprene | 755 770 2.168 250 12
10SK-3UR 10 x 2-1/4 x 3/4 OSH 10 2./14 34 Spoke Polyolefin Web Center with Urethane 755 - .770 2.168 350 12

Tread Off Set Hub Wheel




